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PART—A

The Union Legislature known as the 5.
Parliament consists of :

(a) Lok Sabha and Rajya Sabha

(b) Lok Sabha, Rajya Sabha and The
Prime Minister

(¢) The President, Lok Sabha and Rajya
Sabha

(d) Lok Sabha, Rajya Sabha and Council
of Minmisters

One-third of the Members of the Rajya
Sabha retire :

(a) Every year
(b) Every two years
(¢} Every three years

(d) Every five years

The maximum representation of all Union
Territories taken together in the Lok Sabha
cannot be more than :

(a) 25
(b)y 20
(c) 15
(d) 30

The element of ‘Job Card® is found in :

(a) Swarna Jayanti Gram Swarozgar
Yojana

(b) National Rural Employment
Guarantee Scheme

(¢) Jawahar Gram Samriddhi Yojana
(d) Pradhan Mantri Gram Sadak Yojana

In calculation of wholesale price index,
which item has been assigned the
maximum weightage ?

(a) Food articles
(b) Non-food articles
(¢} Fuel, power, light and lubricants

(dy Manufactured products

Which among the following industries was
the original leading sector during the first
phase of industrialization in England ?

(a) Iron
{(b) Cotton
(¢) Railways

(d) Armaments

Which one of the following eras is used
for preparation of the National Calendar
of India ?

(a) Vikrama era

(b) Saka era .

(c) Christian era

(d) Gupta era

Which one of the following pairs is not
correctly matched 7

(a) Computer Software - CIPLA

(b) Telecommunication ~ BSNL

(c) Cement ~ Gujarat
Ambuja
(d) Pharmaceuticals ~ Dr. Reddy’s
Lab
(Contd.)
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9.

10.

11.

12.

Which one of the following is not included
in India’s Integrated Missile Development
Programme ?

(a) Agni

(b) Aryabhatta

{c) Prithvi

(d) Akash

Dharavi, one of the largest slums of Asia
is located in :

(a) Old Delhi

(b) Central Kolkata

(¢) Abids area in Hyderabad

(d) Central Mumbai

Consider the following statements :

1. The R & D and Consultancy Cell of
CISF was awarded the ISO 9001-2000
certification for its quality services.

2. CISF provides security solutions to
PSUs only.

Which of the statements given above is/
are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The National Industrial Security Academy
(NISA), the CISF training college, located

in Hyderabad, was initially established in
the year 1969 at :

(a) Warangal

(b) Shivrampally
(¢) Lucknow

(d) Meerut

13. Match List-1 with List-II and select the

14.

15.

correct answer using the code given below
the lists :

List-1 List-1I
(Arjuna Awardee (Sport)
of CISF)

A. Inspector Ombir Singh 1. Shooting
B. Inspector Samresh Jung 2. Judo
Weight
lifting

D. Inspector Bharti Singh 4. Wrestling
Code :

C. Inspector Poonam 3.
Chopra

A B C D
a) 3 2 1 4
) 4 1 2 3
c) 3 1 2 4
d 4 2 1 3

Which of the following is not correctly
matched ?

(a) Vishwanathan Anand — Chess
(b) Jayanta Talukdar — Archery
(¢} Vijay Amrit Raj — Billiards
(d) K. Malleshwari ~  Weight
lifting

We cannot extinguish petrol fire with water
because :

(a) Petrol is highly inflammable and water
cannot extinguish it

(b) Petrol breaks water intc hydrogen and
oxygen and consumes oxygen for
burning

{c) Water being heavier slips down and
petrol comes on the surface and burns

(d) None of the above

(Contd.)
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16.

17.

18.

19.

20.

Rusting of iron in rough weather is due
to the formation of :

(a) Ferrous oxide
(b) Fernic oxide
(c) Ferrous sulphide

(d) Fermric carbonate

Bronze is an alloy of tin and :
(a) Copper

(b) Zinc

(¢) Iron

(d) Aluminium

Which of the following cities in India are

~ associated with “Golden Triangle” ?

(a) Jaipur-Udaipur—Delhi
(b) Delhi—Jaipur-Agra
(¢} Jaipur-Jaisalmer—Ajmer

(d) Lucknow-Agra—-Jaipur

Cloudy nights are warmer because :

(2) clouds prevent radiation of heat from

ground to air
(b) of low atmospheric pressure
(c) of the compact density of air

(d) more dust particles gather in the air

The filament in an electric bulb is made
of :

(a) Tungsten
(b) Silver
(c) Copper
(d) Platinum

21.

22,

23.

24,

25.

Deficiency of vitamin A causes :
(a) Beriberi

(b) Scurvy

(c) Rickets

{d) Night blindness

DOTS is the treatment strategy currently
being used worldwide against the control
of :

{a) Polio

{b) Tuberculosis
(c) Bird Flu

(d) HIV

‘Operation Green Hunt’ is a military
operation against the :

(a) Extremists of North East India
(b) Naxalite Movement
(c} LTTE operatives in Sri Lanka

(d) Militants of Jammu and Kashmir

Which one of the following is feared for
its potential use in biological warfare ?

(a) Interferon

(b} Plasmodium
(c¢) Anthrax

(d) Xerophthalmia

Which among the following is the mascot
of 2010 Delhi Commonwealth Games ?

(a) Appu
(b) Shera
(c) Fuwa
(d) Tota




——

16.

17.

18.

19.

20.

yeen W # @ ¥ W o ae
F9% F U e 8 7

(a) WU ATFES

(b) HRF 3AieEEs

(c) HE GTHES

(d) *f&F FEfde

Frey uw fawarg B

(a) &7 war a =

(b) feF Tor 9=d #

(c) o7 wom ' N

() fe T Tegfirmm =i

g § Preafafae 9wy ¥ @ #19-9,

‘wftfe B @ a=g 8 7

(a) Y-

(b) Red—smgr—mra

(c) SHT-SqeH-IEAT

(d) FTEIFIA-SAYL

Aures-4 TR IeTFE e T &l

g

(a) ¥ A, g ¥ ag A IO A
fafFzor 78 8 /W

(b) FF IGROSA TE P B

(c) I * ¥ea ¥T@ B FU

(dy wfF g ¥ IuEga AfgE gow
Er i G

w fagq we w1 @ (reme) fed

T B B 7

(a) TweCT

&)

(¢) I
(d) ="

21

22,

23.

24,

25.

e A 1 &9 $ e @ B
g7

(a) ¥

(b) &t

(c) Racw

(d) e

DOTS U6 Iuar gfe &  adnre A

fivg wx < T & Fran & fom
;oA W E?

(a) DR

(b) &

(c) I

(d) HIV

wrfaEl & 7

(a) STR-d WRa@ F IFAE

(b) HFETEET QAT

(c) e § LTTE & §iha #5ey
(d) TH-FEIR & SUaKl
frefafee § B w A, S9-gs A
geifeq IuEm 9 e g 7

(a) TTWAA

(b) wTEnETH

(c) T&=

(d) Shredafym
Preafafem ¥ ¥ 9, 2010 fewedt TsgHAvsd
FA FTOPHARL B 7

(a) 39

(by AT

(e) T

(d) e




26.

27.

28.

29.

The helicopter in which Dr. Y.S.R. Reddy,
the then Chief Minister of Andhra Pradesh,
was flying in before it met with an accident
near Chittoor was :

(a) Bell 230
(b} Bell 430
(c) Bell 222
(d) Bell 424
Venkataraman Ramakrishnan becomes the
ninth person of Indian origin or connection
to win the coveted Nobel Prize. He was

awarded the prize in the year 2009 in the
field of :

(a) Physics

(b) Chemistry

{c) Peace

(d) Literature

Which one of the following is India’s
official nomination for the Oscar, 2010

(Academy Awards) in the foreign film
category ?

{a) Taare Zamin Par

(b) Harishchandrachi Factory

(c) Ghajini

(d) Jodha Akbar

In October, 2009 the government of which
one of the following countries held its cabinet

meeting under water to demonstrate the
effect of global warming on the nation ?

(a) Sri Lanka
(b) Maldives
(¢) Cuba

(d) Iceland

30. Which among the following are the effects

31.

of global warming ?
1. The Arctic ice cap is shrinking.

2. The carbon dioxide (€CO,) level in
sea water is rising.

3. The atmospheric activities like storm,
thundering are increasing,

4. The sea level is rising.

Select the current answer using the code
given below :

(a) 1, 2 and 4 only

(b) 2, 3 and 4 only

(¢) 1 and 3 only

(d) 1,2, 3 and 4

Which one of the following diagrams

illustrates relationship among Ants, Insects,
and Living beings ?

©
©
(9
OO




27.

28.

29.
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32.

33.

34,

In the figure given above if Triangle,
Rectangle, Circle represent School
teachers, Married persons, Persons living
in joint families respectively, then which
one of the following parts represents
married teachers living in joint families ?

{a) 1
(b) I
(c) III
(d 1v

What is the missing number ‘X’ of the

‘series 7, X, 21, 31, 43 ?

{(a) 12
(b) 13
(c) 14
(d) 15

What is 4% of 40% of 400 ?
(a) 160

(b) 64

(c) 16

(d) 64

35.

36.

A father is nine times as old as his son
and mother is eight times as old as the
son. The sum of father and mother’s age
is 51 years. What is the age of the son ?

(a) 7 years
{(b) 5 years
(c) 4 years
(d) 3 years

Which one of the following diagrams
correctly represents the relationship among
Tigers, Animals and Plants ?

(a)

(b)

(c)

(d)

5 ® @O

(Contd.)




32.

33.

34,
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(b) 13
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400 F 40% FT 4% T 8 ?
(a) 160
(b) 64
(c) 16
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37. Consider the following diagram where

38.

Rectangle, Triangle, Circle, Square
represent Goverment employees, Urban
people, Graduates, Clerks respectively :

/7
/L

Which one of the following statements is
true ?

(a) All urban people are graduates

(b) Some clerks are government
employees but are not urban

(c) All government employees are clerks
(d) Some urban people are not graduates
The Time-Distance graph of two athletes

X and Y running side by side is given
below :

Distance —

Time —

Which one of the following statements
can be deducted from the graph ?

(a) The race was won by X

(b) The race was won by Y

(c) X ran faster than Y throughout the
race

(d) Y ran faster than X throughout the
race

39. In a test, a candidate attempted 10

40.

questions and obtained full marks in all
of them. If he obtained 50% in the test
and all questions in the test carried equal
marks, how many questions were there
in the test ?

(a) 15

(b) 18

(c) 20

(d) 25

The elements of problem figures below

are changing with a certain rule as we
observe them from left to right :

IR

v T

According to this rule, which of the
following would be the next figure if the
changes were continued with the same
rule ?

(a) =
(b)

/
(©)
(d)
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41.

42,

43.

What is the number of triangles in the
figure given above ?

(a) 20
(b) 24
(c) 28
(d) 22

Which one of the following completes the
following series ?

aceg, bfjn, ciou, ....
(a) dltb
(b) dhlp
(c) dfhj
(d) ditz

X _20 and if§= 1, then what is the value
y

X X
of —+— ?
y z

20
25
30
40

(a)
(b)
©
(d)

14

45.

46.

47.

What is the next letter in the following
sequence. ? '

AE, C, G EIG,
(@ T
() Z
(0 W
d K
The average age of A and B is 25 years.

......

If the age of C is 10 years, what is the
average age of A, Band C?

(a)
(b)
©
(d)
14 pumps of equal capacity can fill a tank

in 6 days. If the tank has to be filled in
4 days, what is the number of extra pumps

12-5 years
15 years
17-5 years
20 years

required ?
(a) 6
(d) 7
() 9
(d) 11

In a school, there are 20 teachers. Some
can teach only physics and some only
mathematics. Some can teach both.
12 teachers can teach mathematics and
9 teachers can teach both physics and
mathematics. How many teachers can teach
physics ?

(a) 8
® 13
(c) 15
(d 17

(Contd.)




41.

42.

43.

X 2 fer # Bogsl A wen @ @ 7

(a) 20
(b) 24
) 28
@ 22

Feafafem & @ 7, 9o
aceg, bfin, ciou, ....

B QU HAM ?

(a) dltb
(b) dhlp
(c) dfhj
(d diiz

Xo20 20l —--1 @ 2 wam
y Yy 2

Fqr B 7

(a) 20 ~
(by 25
() 30
(d) 40
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45,

46.

47.

AE,C,GELG ..
@ T
(b) Z
) W
@ K

ATa BH 3wa a1y 259 81 3l C
1 Ag 109 B, a‘rABamca%amm
yg o oB 7

(@) 12-5 7

(b) 15 @

(c) 17:5 =

(d) 20 =

THFGA AT & 14 U9 UH < H
Gﬁ%i\mﬂﬁ%luﬁ TR

7S dad
fft g1 g B X o Paw 1w
T AN W FHQ 2|12 JEGS TRR
T §ha & w9 sEmew Wi wd
e A v wwd 2 fReR s
Nt vg1 wFa € 7

WA W20 FuTEs ¥ %9

(a) 8
(b) 13
(c) 15
(d) 17




48. When a certain number is divided by 5, 50. Three views of a cube following a
the remainder is 1. When the same number particular motion are given below :
is divided by 3, the remainder is 2. What
is that number ? K H B
@) 8 A B m[|S | e Y
(b) 11
(c) 16 '
What is the letter opposite to A ?
(d) 21
(a) H
49, (b) P
(c) B
(d) M

Which one of the following figures

\ . 51. Which one of the following fractions is
represents correctly the mirror reflection

i ?
of the figure given above ? the largest

(a) 5

(a) 5

11

(b) 12

12

(b) © 15

17

(d) 21

(©)

52. A starts from a place at 7 a.m., with a
speed of 10 km per hour. B starts from
the same place at 9 a.m. with a speed of
15 km per hour. When will B meet A ?

(d) (a) 2 p.m.

(b) 1 p.m.

(¢} 3 p.m.

(d) 12 noon

16 (Contd.)
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53.

54.

55.

If (pen) < (pencil), (pencil} < (book)
and (book} > (cap), then which one
of the following statements is always

true ?

(a) (pen) > (cap)

(b) (pen) < (book)
(c) (pencil) = (cap)

(d) (pencil) > (cap)

Which one of the following differs from

the rest ?
(a) MDLC
(b) JVIU
(c) WBXA

(d) DYCX

If Sita was born on December 6, 1983
and Meeta on February 4, 1984 then when
will Meeta be half in age as compared to
Sita 7

(a) April 5, 1984
(b) April 6, 1984
(c) April 4, 1984

(d) April 8, 1984

56.

57.

58.

Consider the following :
OXYGEN : WATER : : SODIUM :

The first two words in capital letters are
related with each other in some specific
way. What is the word among the following
which is related to the third word in the
capital letters in the same way ?

(a) Potassium
(b) Acid
(c) Common salt

(d) Explosive

A is the mother of D and sister of B.
B has a daughter C who is married to F.
G is the husband of A. How is G related
to B?

(a) Husband
(b) Father
(c) Brother-in-law

(d) Uncle

A solid body when viewed from the front
and from the top is seen to be circular (of
the same diameter). What should be the
right hand view of this body ?

(a) Square
(b) Triangle
{c) Circle

(d) Rectangle




——

33.

34.

35,

ot @) < @), (i) < (o)
Tar (q&a+) > (3nf), & Hefofee weat
A B[ @&, G239 G 27

(2) (@) > (Fd)
(b) (@) < (g=)
(¢} @fFaa) = (ah)
@) @Fe) > (@)

Fefafes ¥ @ a9-11 @ 9w v @
B 2 7

(@ MDLC
(b) JVIU
(c) WBXA

(d) DYCX

afe diar @1 w7 6 Ra=T 1983 #Ft gan,
T Hiar & 4 FEU 1984 A, @ drar
#ar ) g ® 9 el 39 A #w
gnft ?

(a) 5 W, 1984
(b) 6 o, 1984
(c) 4 3%, 1984
(d) 8 i, 1984

56. Fraffem v Rew g .

57.

58.

- AfFdo W ;Wi

FAT /e A0 N @ wow @ = sy
W et faftee w0 @ grefoa & | Pafafg
# & FT-91 98, T A IE N R
TR o & I gy wePog 2 ?

(a) urefmm
(b) 3=

(c) TTERY @
(d) Rehies

A DR 9@ 2 T B # 987 281 B
W UA C2 fNmw famw F ¥ gan
BIAFIN GBI G 58 v BR
gy 8 7

(a) wia
(b? forar
(c) <

(d) ==t

& o fvg g @ 99 9§ @R
T g (TFEE ) Remr 2
e s T ik ¥ 7 R ¥w ?

(a) il
() P

(0 39
(d) smaa

(Contd.)




59.

60.

61.

62.

If w stands for +, y for —, z for + and p

for x, then what is the value of
10p2w5y5z5 ?

(a) 4

(b) 24

(c) 30

(d) 60

W can do 25% of a work in 30 days, X
can do 1/4 of the work in 10 days, Y can
do 40% of the work in 40 days and Z can

do 1/3 of the work in 13 days. Who will
complete the work first ?

(a) X
(b Y
(c) Z
(d) W
Ram on selling 33 chairs of wood obtains
a profit equal to the selling price of

11 chairs of wood. What is his profit
percentage ?

(a) 48%
(b) 49%
(c) 50%
(d) None of the above

If RAMAN is written as 12325 and
DINESH as 675849, then HAMAM will
be written as :

@) 92233
(b) 92323
(c) 93322
(d) 93232

63.

64.

65.

66.

Which one of the following fits inside
the bracket ?

61(FADE)45
13¢( )85
(a) FINE
(b) LOVE
(c) GOOD
(d) ACHE
In a class of 45 students a boy is ranked
20th. When two boys joined, his rank was

dropped by one. What is his new rank
from end ?

(a) 25th
(b) 26th
(c) 27th
(d) 28th
Rachna is more intelligent than Chhaya.
Neera is less intelligent than Chhaya.
Seema is more intelligent than Chhaya

but not more than Rachna. Which one of
the following statements is correct ?

(a) Chhaya is more intelligent than Seema
(b) Seema is more intelligent than Neera
(c) Seema is more intelligent than Rachna
(d) Neera is more intelligent than Rachna

What will come at ‘X’ in the following
series ?

3, 10, 21, 35, 53, 74, X
(a) 90
(b) 98
) 99
(d) 100




59. 7R + 3 R w,— 3 Ry, + 3 R 2
oo x & fyu p @, a1 10p2wSysz5 &
" OFT 8§ °
(a) 4
(b) 24
(c) 30
(d) 60

60. W, By wf @ 25%, 30 R A &%
A B X, W OH 1/4, 10 e F o
whdl 21 Y, 40% & 40 AT H &
ghal & qur Z, 69 &1 173, 17 R’e=i A

FT THFAT B TAH KT FH F wdwEH
X wT Am ?

(a) X
(b) Y
(c) Z
(d)y W
61. TH #1 @@s! & 33 R 999 W FH

11 A # fawa geg & arew o
2T 21 IgE e o1 Fm o8 7

(a) 48%
(b) 49%
(c) 50%
(d) SvdFa ¥ & ¥ TE
62. o RAMAN %7 12325 foren wmar 2 qen

DINESH 1 675849 Rre1 wen & @
HAMAM &1 fog o frar smm ?

(a) 92233
(b) 92323
(c) 93322
(d) 93232

63.

64.

65.

66.

Prefafag # @ F19-u1 W, FeF
Reqg o & &% s3m ?

61 (FADE)45
13( )85
(a) FINE
(b) LOVE
(¢) GOOD
(d) ACHE
o feftfal & e § & F@E F
Agal o 21 9w T MY IE FA9 A

F @ o9s o A9 A ST 8 389
3 A T THH FWT OB O?

(a) 257
(b) 26w
(c) 274t
(d) 28
T B § st glagw 8 Ao sm

¥ w9 gfeam 31 dw osmr A fuw
gfgme & T @ ¥ fE 2T

Prafafag o & @ -8 @& FUA
a2 ?

(a) o @ @ e giewm 2
by @ Ao § e gigwm @
(c) dm = ¥ e gfgm 2
&) g e @ s glew @

reaffag St § sl @@ (X)) |
gt ?

3, 10, 21, 35, 33, 74, X
(a) 90
(b) 98
) 99
(d 100




67. How many numbers will be left out of
the numbers from 1 to 30, if all numbers
which are exactly divisible by 3 and also
those which have 3 as one of the digits
are removed ?

(a) 12
(b)y 17
(c) 18
(d 20

68. x% of y is y% of :

X
(a) 100

®) 100

() x
{(d) 100 x
69. In a month three Tuesdays were on even
dates. Then 21st of the month is :
(a) Sunday
(b) Monday
(¢) Wednesday
(d) Saturday
70. Two equal glasses afe respectively 1/3 and
1/4 full of milk. They are then filled up

with water and the contents mixed in a
pot. What is the ratio of milk and water

in the pot ?
(@ 7:17
(b) 1:3

(c) 9:21
(dy 11:23

Consider the following (for the next five
questions which follow) : ‘

Vikram is a grandson of Mohan. Rakesh is the -
brother of Vijaya. Sangeeta is the mother of
Vijaya. Lalita is married to Rakesh. Ishita is a
sister of Vikram. Adarsh is son-in-law of Mohan.
Lalita is mother of Ishita. Jeeta is daughter of
Adarsh’s sister.

71. Who is the grand daughter of Sangeeta ?
(a) Vijaya
(b) Ishita
(¢) Lalita
(d) Jeeta
72. Who is the husband of Vijaya ?
(a) Mohan
(b) Rakesh
(c) Vikram
(d) Adarsh
73. Who is daughter of Rakesh ?
(a) Jeeta
(b) Vijaya
(c) Ishita
(d) Lalita
74. Who is married to Mohan ?
(a) Lalita
{b) Ishita
(c) Jeeta
(d) Sangeeta
75. Who is the mother of Rakesh ?
(a) Jeeta

(b) Sangeeta
(c} Lalita
(d) Vijaya




R ————————————————N...

67. ufe 1@ 30 o < Fegd W @ F 4@
gemd, W 3 ¥ yunda: favsw € qur Q@
df R o 3F 3 3 Fa1 @ W Al
fraft ved ww @ W 7
(a) 12
(b) 17
{c) 18
(d) 20

68. y ® x% g ® y% B ¢

X

(a) 100

2
®) 100

{(c) x
(d) 100 x

69. TF HE ¥ O AR gA R w93
e 1 g d ot wm B ?
(a) RER
(b) THAR
() guart
(d) TaER

70. & wwew Tong wA: 1/3 T 1439 @
A1 P gE qe ¥ AT F O fha
T AR TR ¥ R wdl #Y T ST A
fufa frm mn | w1 § g SR ur @
Cpic: I

(@ 7:17
®) 1:3

(¢) 9:21
(d) 11:23

L

Prefifie w R At (e 9fe g @
fera) -

famy W # T TE 8 gaw e W
wd 2| S Rom ) O & |l e
q fyafea 21 <P faww o Sgw ¥ e
AET # MR 2| dfar sRw o AEr B
Aar e w1 FBT B gA B

71, " & ydeft w7 8 7
(a) Famm
(b) e
(c) dferal
(d) S
72. fawm w1 ofy Y7 2 7
(a) #HBA
(b) THW
(c) fasw
(d) smedt
73. TRE @ AT &1 7 ?
(a) it
(b) fasmm
(c) =R
(d) @
74, "y & #9 faafew 2 7
(a) @feran
(b)y Rmm
(c) S
(d) @
75, TRW A HET F1F & 7
(a) s
(b) T
(c) wfera
(d) famm




PART—B

76. While guarding a Public Sector

77.

78.

Undertaking, the CISF security staff found
that some materials stored in the open
were missing. Such cases are to be reported
under which one of the following Sections
of Indian Penal Code ?

(a) 379
(b) 380
{c) 381
(d) 382
A road opening party deployed in an

insurgent area is meant to do which one
of the following ?

(a) Patrol the road up and down till the
convoy passes

(b) Remain deployed on either side at
random

(c) Advance in an extended line and
deploy in depth on either flank and
simultaneously check L.E.Ds

(d) Escort the passing convoy
In respect of the conduct of a Central Govt.

employee during General Elections which
one of the following is correct ?

A Central Govt. employee can
(a) canvass for any candidate

(b) propose or second a candidate

(c) cast his/her vote while on election
duty

(d) act as polling agent for one of the
candidates

79.

80.

81.

An insurgent arrested under the Armed
Forces Special Powers Act is to be handed

over to the nearest police station :
(a) With the least possible delay
(b) Within 12 hours of arrest
(¢) Within 24 hours of arrest
(d) Within 48 hours .of arrest

In the parlance of Disaster Management,
CSSR stands for which one of the
following ?

(a) Corporate Strategy for Search and
Rehabilitation

(b) Collapsed Structure Security and
Rescue

{¢) Chemical
Radiation

Substances in Solar

(d) Comprehensive System of Security

and Rescue

Which one of these awards/medals did
Samresh Jung of thé CISF receive for
his outstanding performance in the
18th Commonwealth Games at Melbourne
2006 ?

(a) Arjuna Award
(b} David Dixon Award
(¢) Dronacharya Award

(d) President’s
Distinguished Service

Police Medal for




76.

77.

78.

HTT—B

FEATS §FF IR A @@ FW Y

CISF gxen FHarl 3 gat ¥ wosid o

it Y e g | 9 708 | 3

e ot & & e @ ora &

Fala 3 a@ $ Al w1 Rad B

Smar g ?

(a) 379

(b) 380

{c) 381

(d) 382

T IqE (FESe) &7 ¥ A A

g i wrEf T Preefated ¥ @

HT-d1 T Hd Py g 7

(a) 9% W TF B § AL B &
Ted TGN 9§ % & FHam Frea
Ty

(b) ¥5F & A AR AgoFd: AW
@

(¢) T famfa ¥ar ¥ am sgH a1
1L o A e g o e A £
g9 @ @9 LEDs o9 #td W

(d) TEW ET FAAT F FLLET HN

IH g B A PLAY FER FHAR

F = P ey ¥ frefefan ® @

FT-9T TH GE g 7

T BT G FHA—

(@) et ff S & R @ e
@7aw) F qHFA 8

(b) 0 sufear #1 am-vwE o 99dT
HT GHaT &

(¢) Trafam wdwwa (@wm sge) A
/A BT AT WA I GHAT B
(d) FHt w Fofgar 3 A wEew
gl (IR ) B v F I

FT THAT B

79.

80.

81.

gerer T fn ek st (s
TR | " @) FoFd et
IUCE! B hA T GER AR GO
WA 3 gad ®C o1 4Ry 7
(a) TUEYE ¥ @ F9 facdd ¥ gL
(b) fremt & 12 92l B IR
(¢) fremmd & 24 9e¥ & =<
(@) frewmmd & 48 W2l & <

e WA (BT AwATe) Fl wEci

¥ CSSR & af fefeferg & @ fvw &

g 27

(a) FWRE TWTH wRX T WS
ffafareem

(b) FrrEs TeF RN we &g

(c) dfTe geedaw 39 "X WA

(d) #fEhFaa Reew s RegRA ws
RSt

frefafee EEi/9ewm § 8 FE-.

wh, CISF & gmw 51 % Aaard #

2006 W IEIREd TSCHISH @l A I

Itz yaeiT # R e ganm 7

(@) 4T TR

() M RFwa R

(c) RmER Y&

(d) faRre o * g wsesi =1 g
9TF




82.

83.

84.

Which one of the following is the first
Private Sector establishment to get CISF
security ?

(a) Taj Mahal Palace and Tower, Mumbai
(b) Oberoi Trident, Mumbai

(c)} Infosys, Bengaluru

(d} Wipro, Bengaluru

Which one of the following is not
correct 7

A CISF Commandant in-charge of security
of an undertaking shall :

(a) Remain in close touch with District

Authorities

(b) Send fortnightly reports to Managing
Director of the undertaking

(c) Delegate the supervision of

Intelligence Wing of his Unit to his
Deputy Commandant

(d) Bring to the notice of Management
by quickest possible means any matter

of urgent nature

On which date did the Central Industrial
Security Force (Amendment) Act, 2009
(which empowers CISF to provide security
to private industrial establishments), come
into effect ?

(a)
(b)
(c)
(d)

On 1* January, 2009

On 10" January, 2009
On 10* March, 2009

On 1* May, 2009

83.

86.

87.

On which one of the following dates, did
a heroic encounter of CISF personnel
with Maoists take place in Damanjodi in
Orissa ?

(a) 14" February, 2009
(b) 20* March, 2009
(c) 12" April, 2009

(dy 20* April, 2009

The Mukherjee Commission enquired into
an incident of fire, at which one of the

following places ?
(a) HEC Ranchi
()
(©

(d)

DSP Durgapur
RCFL Mumbai

BSL Bokaro

What is the total strength of each
Search and Rescue team in the NDRF

Battalion ?
(a) 21
(b) 30
(c) 45

(d) 54

(Contd.)




82.

83.

84.

frafafea & @ f9-w s, I8 Bl
g gRerT & R wdwem CISF grem
TTE # Te ?

(a) qoHee oW wE TR, {REIR
(b) SheH gRSTE, gER

(c) TR, aME

(@) Rw, Frge

refofeg & ® $19-91 @ wd) Fe &7

f&fr gftser # g &1 g8 CISF

FAVEE

(a) T miteRa ® ag a9de s
TR @

(b) wRss= F ygy MRuE & Wit
e Ao

(¢) I g & IREAT T F e
I ITEAST W YIS FW

(d) sfcmavgs ywe & fRdt of favm i
@id o 9a Tl § JeaT 3 99
¥ &

fre Rfr ® 3fw Mafw g ww@
(Fere) s, 2009, (B % CISF =
freft sfrenfir gl &1 gren wEm
T F AGFR <@ B), T g 7
(a) 1 s=ad 2009

() 10 w78 2009

(c) 10T 2009

(d 1% 2009

85.

86.

87.

Prefofen il & @ g o Rt &
T, ST W CISF wififai &1 waiaedi
¥ R gud gam @ ?

(a) 14 wEA 2009
(b) 20 AT 2009
(c) 12 I¥d 2009

(d) 20 ¥T 2009

Preafofem oY & @ &9 oF wwE w
g2 I W AT W S gEo I
g M ?

(a) HEC =
(b) DSP Ffyx

(c) RCFL 73
(d) BSL &Y

NDRF aifeft (seifm) # gcds qomedt
TE IO I@ FT FE @A Al
g7

(a) 21
(b) 30
(c) 45

(d) 54

(Contd.)




88. In which one of the following disasters,
does the NDRF Battalion at Arkonam,
specialize in ?

(a) Floods
(b) Earthquakes

{c) Nuclear, Biological and Chemical
Disasters

(d) Tsunamis

89. At which one of the following places are
the CISF personnel exposed to great risk
of radiation ?

(a) Airports
(b) DAE Units
(c) DOS Units
(d) NDRF

90. The security of the Taj Mahal at Agra
was taken over by the CISF on the
request/directions of which one of the
following ?

(a) UP Government

(b) UP High Court

(¢} Supreme Court of India

(d) Archeological Survey of India

91. Which one of the following is the best
weapon for a commando in all situations/
circumstances ?

(a) 0-303 Rifle
(b) 7-62 SLR
(c) 5'56 INSAS Rifle

(d) 762 AK-47

92. While moving in an insurgent area to
relieve a company thirty kilometers away,
which one of the fellowing should be the
Soremost priority ?

(a) Bullet-proof vehicles

(b) The deployment of ‘road opening
party’ on the route

(c) Mounting LMGs on the vehicles
(d) Taking help of the local police

93. In how many non-Airport Authority of
India controlled airports does CISF provide

security cover ?
(a) 2

(b) 3
(c) 4
(d) 5

94. Which one of the following Forces is
guarding the Indo-Chinese border ?

(a) BSF
(b) CRPF
(¢} Assam Rifles
(d) ITBP

95. In which one of the following states is
the insurgent group, Peoples Liberation
Army (PLA), the most active ?

(a) Arunachal Pradesh
{(b) Assam

(c) Manipur

(d) Nagaland




88.

89.

90.

91.

IR g NDRF seifems & Frefefeaa
ol ¥ ¥ 59 o & 99y § fafimean
U g7

(a) g

(b) @9

(c) =, Wfaw @ P e
(d) gmit.

Pretiifed ¥ @ 9 wF @™ T¢ CISF

s =1, RfF & vl g &1 e
e war & °?

(a) FERUT (@A)
(b) DAE z@reat

(c) DOS THTgmi

(d) NDRF

Prefafee ¥ g o & PRe/sRg
ux, CISF §TU, 3T # qTerfee el e
F1 a o o ?

(a) JTIRT FH
(b) ST I=d AR

(c) AL T I=ddA “HRTAY

(d) v Raed gdem

Sl & Ry, Prafafes & ¥ #9-W
wh gy ol Rufal Rl A, adtam
Iga 8 7

(a) 0303 TTHA

(b) 7-62 SLR

(c) 5-56 INSAS TRH

(d) 762 AK-47

92. Juwrd &= ¥ drw FranfieT ¥ @

93.

94,

95.

) I FOH 8 IO0 ge, Prefdem ®

¥ By w W mattes wafar

ey ?

(a) qETY®H dqE

(b) =Mt g Az safxw ot FAIT FEAT
(c) AT WX LMGs & g0

(d) wrfg gferg N wEE A

e fmre wfte @ w) e
g it e woedvef wt CISF geem
A Fd 87

(@ 2
(b) 3
(c) 4
d 3

Preafofaa & § F19-91 & a9, TRA-4H
dmr #Y e F W1 8 7

(a) BSF

(b) CRPF

(¢) Assam Rifles

(d) ITBP

iy ¥ @ v o oW § I9wEl
aqe, Gigew e st (PLA) waffess
afhg 8 7

(a) v LAl
(b) IEH

(c) =R
(dy s

(Contd.)




96. In which one of the following states

97.

98.

99.

is the insurgent group, NSCN most

active ?

(a) Assam

(b) Meghalaya
(c) Mizoram

(d) Nagaland

The Border between which one of
the following, is called the McMahon

Line ?

(a) Arunachal Pradesh and Tibet
(b) Manipur and Myanmar

(¢) Kashmir and Pakistan

(d) India and Pakistan

The ULFA insurgency was born due to

which one of the following reasons ?
(a) Leftist ideology

(b) lllegal migration from Bangladesh
(c) Religious freedom

(d) Regional freedom

In which one of the following states is

the insurgent group NDFB most active ?
(a) Arunachal Pradesh

(b) Assam

(¢) Manipur

(d) Meghalaya

100. The 26/11 terrorist attack in Mumbai was

101.

102.

103.

carried out by which one of the following

terrorist groups ?

(a) Jaish-e-Mohammed
(b} Lashkar-e-Taiba
(c) Sipah-e-Sahiba

(d) Jamaat-e-Islami

Which one of the following security plans
is adopted at majority of the Airports in

India ?

(a) Concourse Plan

(b) Boarding Gate Plan
(¢) Hold Area Plan

(d) Secret Plan

Which one of the following is the Aviation
Security Regulatory Agency in USA ?

(a) TSA
(b) FBI
(c) CIA
(d) DFT

Which one of the following ts a part of

Biometric Access Control System ?
(a) Multi-zoned DFMD

(b CCTV Camera

(¢) CTx X-Ray Machine

(d) Iris Scanner




96. Freafofa & | fhe © wew o, IuwEt

97.

98.

99.

¥ME, NSCN waffos wfg 2 ?
(a) 3rwH

(by BuwE

(cy Toirm

(d) A

e & @ o v A dar =
TFAET 3@ FEd B 7

(a) IToTEE YRW MR foed
(b) =fTR S =R
(¢) FTR AT wiikrwm
(d) wr@ ik wifeee

Preafafm 4 & 59 @ sor & ULFA
IYwrd w IR g7

(a) amed] faamara

(b) FTeRT ¥ ¥y yEET

(c) afs wwd=m

(dy &l s

Prafafes & 8 B9 & ww § STt
998, NDFB waffers afkg & ?

(a) 3rEUTEA 9R
(b) sEw

(c) WP
(d) Wy

100. 9795 & 26/11 #1 AGHE  EHA,

101.

102.

103.

Preaffeas & @ g oF swadt ayE
T & omn ?

(a) VH-T-HEER

(b) TEHT-T-qigET

(c) Rrae-w-wifgan

(d) “HE-T-TE

R ® Ffteeay w@Rarel €, Frefafea
F A F-P @ gRen DI AT I
g7

(a) FIAFE Qe

(b)y T N greAT

(c) Bies TRA T

(d) T e

USA ®, fyeiffes ® @ al7-w1 <&
amifres gren frames st (gagers
Rt 3z wieh) 2 7

(a) TSA

(b) FBI

(c) CIA

(d) DFT

Preafafee 4 & FNF-w @ TOARE
VG woe fEew &1 o9m g ?

(a) wgHsehw (Afeew=) DFMD
(b) CCTV &m0

(¢) CTx X-fFxwr =sfa

(d) ImEfm &A%

{(Contd.)




104, Which of the following is not an

105.

106.

107.

explosive ?
(a) LSD
(b) TNT
(c) PETN
{d) TATP

UVSS is installed for the examination of

which one of the following ?
(a)
(b)
()
(d)

License Plate of the vehicles
Under Carriage of the vehicles

The Boot of the vehicles

Ultra-violet coloured substances in

the vehicles

Which one of the following helps in Night

surveillance ?

(a) IP Camera
(b) IR Camera
{(c) CCD Camera

(d) Video Camera

PTZ Camera stands for which one of the

following ?
(a)
(b)
(c)
)]

Pan Tilt Zoom Camera
Pre-Timed and Zeroed Camera
Photo Tomographic Zoning Camera

Pan Twist Zoom Camera

108.

109.

110.

111.

Which one of the following is used in the

Perimeter Intrusion Detection System ?
(a) Concertina Wire

(b) Taut Wire

(c) Tensa Barrier

(d) Wire Razor Mesh

The introduction of Video Analytics will
help in a CCTV system, in which one of
the following ?

(a)
(b)
(c)
(d)

Recording of the images
Frisking of passengers
Remote access of CCTV images

Static object recognition

In the X-Ray Machines “Lead” is primarily

used to :

{a) Absorb radiation

(b) Detect arms and ammunition
(c¢) Detect explosives

(d) Increase the “Through-Put”

The images by the back-scatter X-Ray
Machines produce which one of the
following ?

(a)
(b)
(c)
(d)

Black and white video
Coloured video
Remote video

Reverse video.

(Contd.)




104. Frafafes & ¥ $9-ar &, fenes T8

105.

106.

107.

g ?

(a) LSD
(b) TNT
(c) PEIN
(d) TATP

refefag ¥ @ Fg o & oden = ol
UVSS deifdg fFar S 8 ¢

(a) FEAT A AREE T

(by aEAT @1 FEw (Praen) &=

(c) TEA A W\ gl (JT)

(d) T@N § wWETH (egEmde) Ia
et

T A dwdt @ B Preafafee § @
-7 TF, qFF & 7

(a) IP &7

(b) IR HFQ

(¢) CCD #9q

(d) dfEm H97

PTZ #a7 &1 ad P=fofaa & & fred
g7

() ¥ feve 5@ T

(b)y B-zs @ s FAT

(c) HEY Jmmfes ST BT

(@) ¥ Zfawe @ Fww

108. afomft sades dgEs yomeh (3

3o R2wee Reew) # Prefofea # @
T ygEd et & 7

(a) FEA TR

(b) T (eT9%) TR

(¢) 2 IR=

(d) TER T "W

109.CCTV womeht ¥, $Rd TifRsw =

garaw, fefafan & @ g o A g
ghm ?

(a) vhfe=t %1 afcres

(b) TR N wel-sra (BERE)
(c) CCTV s &1 ggx ahmm
(@ Rux 3wy s

110. X-frzor Avf=T & ‘Lead” gemawr faes

111.

o ygam frm omm 2 7

(a) fafrTor s@amom

(b) YT TS MA-AEL w1 LA
(c) Repesi &1 @qa

(@ "I e

g gEnig X aefEt @ g s
TRfvw, Fraffem ¥ /@ 19-51 @ 379
Foar & 7

(8) wT-wm AT
(b) ha Sfed
(c) ggx #fsa
(d) fad HifgH




112.

113.

114.

115.

Which one of the following materials is
not detected in a normal Door Frame Metal
Detector ?7

(a) Aluminium
{b) Iron

(c) Stainless Steel
(d) Zinc

Through the use of which one of
the following, are explosives in the
X-Ray Baggage Inspection System
detected ?

(a) Camera and Mirror System
(b) Multi Energy System
{c) Single Energy System

(d) Trace Detector System

Which the
instruments is used in the detection of

one of following

explosives ?

(a) Non-linear Junction Detector
(b) Radar

(c) RFID

{(d) Thermal Imager

What is full form of TNT ?
(a) Thermal Nitrogen Therapy
(b) Thermal Nuclear Therapy
(¢) Total Natural Therapy

(d) Trinitrotoluene

116. Which one of the following substances is

117.

118.

used in explosives ?

(a) Ammonium Chloride
(b) Ammonium Nitrate
(c) Potassium Chloride

(d) Sodium Chloride

The
Practices prescribed by International
Civil Aviation Organization (ICAQ)
are dealt with, in which one of the

Security Specifications and

following 7

(a) Annex 1
(b) Annex 8
(c) Annex 9

(d) Annex 17

ISPS Code stipulates the measure for
enhancement of the security of which one

of the following ?

(a) International Scientific Projects
(b) International Space Projects
(¢) Nuclear Plants

(d) Ports and Ships




112. Freafofee geref # S9-a1, 9@ SRe-
g-vga® ¥ wyfaq 7@ far ?
(2) Tegffran
(b) B
(c) w=Fow =
(d) s (i)

113, X-fvor s frdeor gure ®, freafafea
¥ Y fog ™ 3 wgm ¥ fGewRest =@
aqfaa o o g 7

(a) FHA TE T YOI
(b) wg =i woren

(c) e Fel gored

(d) a7 (3¥) "WgFE yomel

14 frafofge = # ¢ 9w @& 1=
feRieal st wyfm w3 & g oy |
AT WEr 8§ 7

(a) ifew dfa Fgas

(b) WR

{(c) RFID

(&) ade wlfms (ada Fer)

115. TNT &1 quf &7 0 8 ¢
(a) wHe ATESE AR
(b) wfer ~gfeme Atd
(c) erem g A
(d) grefaegd

116, Frafafem weref § & -1 o, femeat
¥ ygwa fem wmn 8 7

(a) sATOw TS
(b) smfrom At
(c) Wfmm TS

(d) =y =S

117. Praffag & @ F-a1 wF, gy
A fBwEa @meT (ICAO0) gra Rfga
geen RARrdwe o ugfed @ fasg &
g7

(a) TAF |
(b) THF 8
(c) TAFE 9

(d) e 17

118. Preafafam # @ Rrwat Rem ® gl@ &
Igrl & ISPS ®fRar sl @ & 7

(a) FaeOed dwitrs el
(b) IaeTeelm Hafta aREEd
(c) T FOF

(d) T899 T 9=

{Contd.)




119.

120.

121.

Consider the following :
(A) Check-In Area

(B) Land Side

(C) Apron Area

(D} Security Hold Area
(E) Boarding Gate

Mark A to E in sequential order, as you
enter the Airport and proceed towards the

Aircraft :—

(a) ABCDE
(b) EADCB
{(c¢) BADEC
(dy BACDE

In X-BIS, what is meant by TIP ?
(a) Threat Identification Procedure
(b) Threat Image Projection

(c) Tested and Identified Packet

(d) Test Identification Parade

In an Airport, Isolation Bay is used for

keeping which one of the following ?

(a) An aircraft that has developed

technical problems

(b) An aircraft with a passenger suffering

with contagious diseases

(¢) The Hi-jacked aircraft

(d) An aircraft that is ready to take off

122. The minimum rank of the Police Officer
who can investigate any offence under the
Prevention of Corruption Act, 1988 is
which one of the following ?

(a) Sub-inspector of Police
(b) Inspector of Police
(¢) Assistant Commissioner of Police

(d) Deputy Superintendent of Police

123. Which one of the following Sections deals
with waging or attempt to wage war against
Govemment of India ?

(a) Section 161 of Criminal Procedure
Code

(b) Section 161 of Indian Penal Code

(¢) Section 121 of Criminal Procedure
Code

(d) Section 121 of Indian Penal Code

124. Consider the following statements :
A person can not be released on bail :-—

1. Who is guilty of an offence
with  death or
imprisonment for life.

punishable

2. Who is under the age of sixteen years.
3.  Who is sick or infirm.

Select the correct answer using the code
given below :

(a) 1 only

(b} 2 only

(c) 1 & 3 only
d 1,2&3




119. fFeafafea X Fﬁrrt FI 122. wserae fraws afafrom, 1988 % aedA
(A) ITHA-3FT & (IF-gA-uRa) Bl FgTg &1 aeu FT 9% & fag
(B) &s @=s ?@%g:a;ﬁﬁmwﬁ Frferi
(C) 7 g @ T 9o-Proes

(D) geen-3% & (R des o)
(E) smirev-gie (¥ #z)

famETTE ¥ oo #Y e A AR e
21 ¥ A¥ E® IgHad ¥ 7 Sfhd

() fera-fe

(c) TeWF gferg g
(d) gferm I9-3rehers

e Preffe 2 2 -
. HHA-U TH ORI, ¥
(a) ABCDE 123m%mwmaw@m
(b) EADCB e w4 & faww H g 7
(c) BADEC (a) @5 ufkar @fe@m : @i 161
(d) BACDE (b) sl g5 dfear 1 oarm 161
, (c) ¥ TfFm wRar A ara 121
120.X-BIS & TIP 1 anf f&e@ 2 7 ) Wl @3 @ @ 121
(a) 9T IR TR
(b) T T TAFH 124, e sl 9 faEme ST
(c) TERT WS IAEI-CIHES IHT I wfyd F wmAg w Prsm T8 o
@ e IRFARETT TS R

1. W <gES A AT HOAW § R

) fru s drg agaw F OIS 2
121. T e ¥, yaspa @ve (e

3), Profofe 3 @ B @t & fd 2. & A @ ¥ FH amg w OB
g gl 8 7 3. @ dWR W oswE B
(a) Tw T fored aed wHEn SerA fw Ry MU FT F T FT FE I
A e 2 A G
(b) & famm fad gwms dn F fiva (a) Faa 1
us arAl @ (b) Faw 2
(¢) & Iga famm (c) ®ad | AT 3

@) & A s 33T B R@ du @ (@ 1,233




125. FIR in a Criminal case for the purpose

126.

127.

128.

of corroborating the oral evidence should

be :
(a2) Reduced to writing

(b) Signed by the person giving it

(c) Entered in a book kept by the official

of the police station

(d) AIll of the above

Weather forecasting is scientific application
that requires large matrix computations
very fast. The computing platform suitable
for implementing this application is :

(a) Mainframe
(b) A network of computers
(c} A super computer

(d) A desktop computer

Database Management Software and a

Spreadsheet are :

(a) Computer systems

(b) Entertainment software
(c) Application Programmes

(d) Financial Accounting Packages

One megabyte is equal to

(a) Approximately one thousand bytes

(b) A large chunk of data

(é) Approximately one million bytes

(d) Approximately one billion bytes

129. Which of the following measures should

not be taken to avoid computer threats ?

(a)

(®)

(c)

(d)

Do not open email attachments from
an unknown source

Buy an old version of the operating
system such as Windows 95 so that

new viruses may not attack

Install a firewall to protect against

unauthorized access to your computer

Use spam-blockers in your email

software

130. Viruses are :

(a)

(b)

©

(d)

Computer programmes that get

corrupted and therefore malfunction

Computer programmes that copy
themselves and disrupt the working

of the computer or damage data

Unsolicited emails that promote

dubious products

Computer programs that appear to
be legitimate but actually disrupt the

computer system

131. When a file is saved, it is :

(a)
(b)

(©
(d)

Closed from the screen

Stored in the secondary storage such

as hard drive
Stored in the RAM
Stored in the ROM




125.

126.

127.

128.

Wfes @ieg 1 @qfc & I gg T
FalE "M § FIR

(a) Brfem =1 ¥ wRom @ W ARy

(b) 3| T =fm g sEeRa
ifed

(c) Ifm evm F wftwTd g w@h T
gRasr ax forel wr =il

(d) ITgFa |

Hgq yatem dofrs sya @ fas
Q. U gd geq AfCE FmwEl A
SaTgeer Bt § 1 39 I & FEi-an
% fru gugem €M <iTwE  HEA-E
27

(a) HTHH

(b) FGEI & Acas

(c) AT FHYX

(d) S=hTiY HYEX

Feg AAwre |ty AR WA
F g 7

(a) Fgex Mwemd

(b) FNETA HFTITL

(c) Iryam wwA (QReAPT rIm)
(@) T dEme Ia

wF FERe et ® gaeT B 7
(a) MTHT TH IRX AR

(b) TP FEq T E
(c) amm o Ak aiT

(d) H’HW@WW

120. Fgex @A A T # g Prefofea

¥ ¥ F-41 Iyw & A Ty 7

(a) F9G G ¥ T AT JETAT W
EERCIRE

(b) IR faeew F FE W QU
g7, AF & 9 95 g afs
qU qETE FHHUT A FHL Gd

(c) I3 FYex A FALFa sBem &
TR & fau Ff wmEw it
FIAT

(d) I 2N gigedad ¥ d-sArwd
IFT FLAT

130. 97079 w1 & ?

(a) FCe FT &F FE A (ARAHFNT )
FA T FHLL TAH

FYET T S T F FR BT AQ
F X Fyex & FH F 0 SO
R A B A e

(c) Jmifoa e o @iy Jeurg A s
i

Fged NUW W I T B 8
fbq arge § FogeT Rwew & amn
s €

(b)

(d)

131.99 UF WEd ¥9 # WGl 8, 99 98

(a) M § FAT B WY B

(b) BE gEa Y FFTH wWRS F wWR
gl @

(c) RAM & ®=1X & v 8

(d) ROM ¥ ¥R & =l 8

(Contd.)




132. The CPU, memory and system bus are

133.

134

135.

located on the :

(a) Cabinet

(b) Expansion slot
(c) Motherboard
(d) Riser board

A “bit” is short form for which one of
the following ?

(a) Tiny amount
(b) A binary digit
(c) A set of eight ‘0’s and ‘1’s

(d) A tool to cut metals

- Which one of the following parts of

computers executes instructions ?
(a)
(b)
(c)
(d)

Instruction buffer
Disk drive
CPU

RAM

Every human being has right to :
(a)
(b)
(©)

Life and liberty
Freedom of speech and expression

Equality before law and equal
protection of laws

(d) All of the above

136. Under Rule 33(2) (a) of CISF Rules, 2001

137.

138,

139.

an enrolled member of the force shall be
deemed to have been placed under

-suspension, if he is detained in custody :

(a) For a period exceeding 48 hours

(b) For a period exceeding 24 hours

(¢} In case of molestation

(d) For violation of Human Rights

A public servant accepting a bribe can be
punished under :

(a) Indian Penal Code
(b) Prevention of Corruption Act 1988
(c) Protection of Civil Rights Act 1955
(d) None of the above

A and B fire at C and C is killed. Who
has committed the offence of murder ?

(a) Omly A

(b) Only B

(c) Both A & B

(d) Neither A nor B

The workman under the Workmen's
Compensation Act, 1923 can claim
compensation :

(a) If the injury has been caused by
accident

(b) If the accident is caused in the course
of employment

If it is not caused due to the willful
disobedience of rule of safety devices

All of the above

(c)

(d)




132. CPU, A 3R Ryeew sw frg 1 saRoa
gd B ?

(a) #faAe
(b) TFRYEE WiT
(c) Aew@S

(d) TmR qE

133. ‘foe’’ Prafofes ¥ @ RBes &g 9
g ?

(a) ¥ET HUAT

() R-amard =

(c) 35 ‘0 M ‘1’ F @z
d) g W FeF F frg ferR

134, FFREY & I M A T Fed T W
Feet w1 Proges wwa @ °

(a) AT THT
) B= g
(c) CPU

(d) RAM

13599 & &9 ¥ 9P w1 SER § 7
(a) “aw IR @@ w1 AHFER
(b) 3k 3 el @R 1 AEFR
(c) Bf & gwew waan 7 Rt & @9
HeEw w1 S
(@) Swdwr W

41

136. CISF fraarae 2001 & Fraw 33 (2) (a)

137.

138.

* Id= 9o & el odff gew H Fela
7 wam, ofe 98 fRvwa # form S
2

(a) 48 6T ¥ I wwa F R
(b) 24 ¥t ¥ sfw ww + frg
(c) IR (AREeyH) & A A
(d) AFARER AT H WA A

fogg a3 Awaad F e Gled/
sfufrm & safa e Rar o &
g7

(a) W gus whedr

(by wseraR Py atufram, 1988
(c) fafyer aftere weewn e, 1955
(d SHw ¥ & # T

A ¥R B, C T W@ & § 3T C 7
ST B & F sy fhen w27

(a) d99 A A

(b) #3@ B A

() A B T 3

@ AR AYIATHB A

(a) Rk @fy, gdem & FO01 g1 A,
(b) 3R gefemr vk R A g oD,

(c) R gdeT grem g & Bymm A
AR FI ME AT P H AL

g2 @,
(d) SvdFa @+

(Contd.)




141.

142.

143,

140. The workers under the Industrial Disputes

Act 1947 can strike because :

(a)
(b)
(c)

(d)

It is their right
It is their fundamental right

It is the only way to press for their
demands

None of the above

Plea of alibi under the Indian Evidence
Act is laid down in which one of the
following Sections of Indian Evidence
Act ?

(a)
(b)
(c)
(d)

Section 7
Section 10
Section 11

Section 27

Under CCS Conduct Rules, Group A and
B employees are supposed to inform their
employer if they transact any moveable
property exceeding

(a) Rs. 10,000/-
(b) Rs. 15,000/-
(¢) Rs. 20,000/-
(d) Rs. 25,000/-

Joining time on transfer can mof be
combined with which one of the following
types of leave ?

(a) Half pay leave
(b) Commuted leave

(¢) Casual leave

(d) Eamed leave

146.

144. Which one of the following does nor

constitute a major penalty as per CISF
Rules ?

(a)
(b)

()
(d)

145.

Compulsory Retirement

Reduction to a lower time Scale of
Pay

Withholding Promotion

Removal from Service

In case of a complaint of Sexual harassment

against CISF personnel, which one of the

following is correct ?

(a)

(b)

(€)

(d)

The Complaints Committee will be
deemed to be the Enquiry Authority

The Disciplinary Authority will
personally hold enquiry

A senior lady officer will be"appointed
by Disciplinary Authority to hold the
enquiry

The complaint will be forwarded to

National Commission for Women for

Enquiry

After completing how many years of

service, can a Central Government

employee get his/her service verified ?

(a) 20 years
(b) 25 years

(c) 28 years
(d) 33 years




140.

141.

142.

143,

Fahe fEr sfram 1947 3 seata
FHFT FToAH P GgFq &, TG

(a) TE ITF AWFR B
(b) W& ITH YA ITHR @

(c) o APl & B 9@ T F U
THAH TOET 2

d) Swf= & & Fg A&

aa g afm F swa I
IqReo A1 &1 @ A W
sty 3 Py v % @ B9
wF J9eE N fem w2 7

(a) §FH 7

(b) qFTF 10

(¢) &FH 11

(d) AT 27

ccs s Prommdt & swad, 9
' AR w ® FHmmE g e ®
after TR B wd wERy $ aded W
ar Prowm # gha B e shfee
g7

(a) 10,000 &I

(b) 15,000 T

(c) 20,000 T

(d) 25,000 T

T U fem arel wuen sEt w
Prafaft ¥ & Bg o 7o 1 g
% wra aftfa 78 fBhm o @ ¢

(@) ¥d a1 geA
() om ged
(c) IFRAF Tl
(d) Ifia gt

144. Prfafag ¥ & A9-91 ©F, CISF Praw

# geaifa, e Tvs € ? ?

(a) wrrad Fa-frafe

(b) PAER EFE 3TTHE W HEA
(c) TRk qFHT

(d) 81 ¥ gem@m I

145.CISF #fifs & Reg @7 sofigd A

R @ yeqn A, fyAfafes & R

F9-91 TF GE B 7

(a) farraw afufy wf= witsrd & =9 F
gaE St

(b) sumEPE TivETd e 9 @
S ®wm

(c)ﬁl‘hﬂ?ﬁ%%ﬁ,mqﬁmﬁ
g wF aitss Afgen aftwdl W
frgfea & st

(d) Rrema & ofe & A dw akw
I # amETRG fFm S

146.FFq T A Ja1 O FA F A”, &

g TR F1/3 FHEQ A JT A}
el & gea/d & 7

(a) 20
(b) 25 =df
(c) 28 =
(d) 33 s

(Contd.)




147. Which one of the following CCS Conduct 149. A person appointed as a Central Govt.

Rules 1964, deals with sexual harassment employee on 15% June who was born on

of working women ? 10" May will superannuate on which one

(a) Rule3 C of the following dates ?
(b) Rule 13 A (a) June 30
(c) Rule 20 7 (b) May 31
(d) Rule 21 (c) July 31

(d) December 31

148. What is the maximum number of

stagnation increments given to a 150. A non-gazetted officer can be considered
Government employee under the relevant for compulsory retirement under FR 56 ()
rules on the subject ? after he/she :

(a) 2 (a) Completes 28 years of service

(b) 3 (b) Attains age of 50 years

{c) 4 (¢) Completes 33 years of service

d) s (d) Attains age of 55 years




147. 3¢ Rifde Far s P 1964 @
fPreafafea Pt & § F9- o, FETen
ofeardl ® 99 Icdis ¥ Tty g 7

(@ w3 C
) Faw 13 A
(c) Trad 20
(d) Fram 21

148. T FAIN B qegEiEg wa o
F IFolg Yo @ WA 9E, Iy
(® ) Fmgfy A aftrea wen wn
g7

(@ 2
(b) 3
(c) 4
(d) 5

149. T% =gt o A FIFQ FHErG F &

¥ 1597 ® Frgga gan qan s 749
10 H gan B, IuA! svatian Frehim
e .3 B ww ffy ow enft 7
(a) 30 7

(b) 31 W3

) 31 s

(d) 31 feww=T

150. FR 56 (j) & ¥-aiiq @& sty fterd

) strad Jo-Frafr o fREr o
ghar 8, 4R B

(a) 28 asf & Ja T FI am 2
(b) 50 @ # Iy W= F A 2
() 33 asf & Fa1 & F A @
(d s55af M Iy yra w o 2
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Note ; English version of the instructions is printed on the front cover of this Booklet.




